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2N -3 - c2(3H) - NEME - HES Ol AFoH @,;OH Hl =2
St<= 1t 1,126,076 755,576 370,500
St L XIGh=22 200,000 200,000 0
FOIXI AL 200,000 200,000
SHE ARZ SHETHHIZ2AHAHS) 200,000 200,000 0
401 A& HI L =20 200,000 200,000 0
01 Al&H] 200,000 200,000 0
OSHE ARD 6t2C HUIZ A
200,000,000 * 1A 200,000
Sh4% LU Xt 397,844 0 397,844
FOIXRAAY 397,844 0 397,844
CHHSE ASESXP 2B IA HXZ A 397,844 0 397,844
401 Al HI 2L 20| 397,844 0 397,844
01 Al&H] 395,000 0 395,000
OHHls &A4XP BT &AX
395,000,000 * 14! 395,000
03 Al 201 2,844 0 2,844
OA& 20| 395,000,000 x0.72/100 2,844
Hees(ota0) 480,000 480,000 0
LHEHH KIS 480,000 480,000 0
LHEHeH KIS 480,000 480,000 0
701 JIEFSI HAE2 480,000 480,000 0
01 JIELSIHE S 2 480,000 480,000 0
OFHINHELHFH =2 480,000
DIERE S3XHAE 294
480,000,000 * 14! 480,000
HE2AAH|(St4=1t) 48,232 75,576 N27,344
ol 2| 33,928 46,980 13,052
ol 29| (5H41t) 33,928 46,980 A 13,052
101 @124 H| 33,928 46,9380 A 13,052
01 B2 33,928 46,980 A 13,052
OAlzte a2 4a 8,078 «14021x300A| 2¢ 33,928
Jl=A 14,304 28,596 A 14,292
Jl2Zdl(ah4=1) 14,304 28,596 A 14,292
201 L2 A 7,104 12,756 A5,652
01 At22t2H 7,104 11,256 A4, 152
O1 Yeka=2H 2,400
>EM2IH 100,000 » 122 1,200
DHEMAMADE(EH 2 E14) 100,0002 %123 1,200
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05 =& 4,704
Dot 5222 7,000& «1421 43| x 128 4,704
202 044l 7,200 15,840 8,640
01 = LHAbI 7,200 15,840 28,640

OJl2dR==30l(52!) 600,000& 128 7,200




